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Chapter 8 THE PYTHAGOREAN THEOREM

Pages 368 - 369

1
2

(Section 9.1)
a2 b33 ¢6/Z d4V2Z e™2 £10VZ g2v5 h2VE
a 5V9Z=15VZ by13 cV9+16=25=5

d+25 + 144 = /169 = 13 e§.4«]§=%§ £73

n?ﬁ b%g c2V2 d2V3 4a11V3 b8V2+ 73

e2V8+3V8=5v3 d6V2+5V3-4V3=6V2+3 5a+5
b12 13 d+} e+2V3 £3VZ 6ax?=9, x=13
bx?=64,x=48 ¢x2=25,x=45 dx2+27=36,x2=9,
x=%+3 e5+ 11=x2 16 =x2 x =+4 fx2=75+5x2=

80, x = +V16 - 5 = +45
7 a(x—6)x+1)=0

bx+6)(x-2)=0

x=6,—1 x=-6,2
ex-5)x-3)=0 d(x—6)(x+3)=0
x=3,6 x=6,-3
ex2_9x-36=0 flx+9x+4)=0
(x —12)(x + 3) x=8,-4

x=12,-3

8 ax(x—-4)=0

b x2-10x=0

x=0,4 x(x—-10)=0
x=0, 10
c x2—13x=0 d 0=x%—8x
x(x—13)=0 0=x(x—8)
x=0, 13 x=0,8

9 ax?4(212=(297

b (22 +y2=(4)2

x%= 841 - 441 = 400 yi=16-4
x=20 y¥=12=4.3
y=2\3
¢ @1?+(T12 =12 10 a 2x2-3x-35=0
16.81 +50.41 = r2 (2x+T)x-5)=0
67.22 = 2 x=5,-]
82=r

b 122-15=-11x
122+ 11x-15=0

e =114 V121 - 4(12)(=15)
il %

e Bc2-Tx+9=22+6x+7
6x2-13x-2=0

_ 13+ 169 4(6)2)
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- U 13:11
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524 3 x=2nrx-é
X=gorx=j
11 7@x-3)=(x+ 1)(2x+4) 12 OB=10
21x-21 = 2x2 + 6x + 4 0A=T7
0=2x2-15x+25 (0A)? + (OB} = (AB)?
0=(2x-5)(x=5) 100 + 49 = (AB)?
x=3,5 12.2~ AB

13 a lhl=-hsinceh<0 b Ix-3| =3-xsincex<3
¢ lpllgl=(-p)(-q)=pgsincep<Oandq< 0
d 11 lylyx = -xyx since x> O and y < 0
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